Genetics WS D – Sex-Linked Cross

· Cross the following, do the Punnett Square and determine the male and female percentages.

Assume:

H = normal


C = normal


B = normal
 

h =Hemophilic


c = Color-blind


b = Baldness















































































Normal Dad x Mom carries baldness





Male %:                               Female %:





Hemophilic Aunt Martha x Normal Uncle Fredd





Male %:                               Female %:








Normal Male x Mother is hemophilic


*(What are the chances of having hemophilic child? ________)


Male %:                               Female %:








Normal Female x Bald Male


*(What are the chances of having a bald child? ________)


Male %:                               Female %:








Color-blind Dad x Mom carries Color-blindness





Male %:                               Female %:








Colorblind Dad x Mom not color blind


*They have one color-blind son.


Male %:                               Female %:








Normal Dad x Mom heterozygous for Hemophilia





Male %:                               Female %:








Hemophilic Dad x Mom carries Hemophilia





Male %:                               Female %:








Bald Male x Mom is bald 





Male %:                               Female %:








Normal Dad x Mom does not carry color-blindness





Male %:                               Female %:








Hemophilic Dad x Mom does not carry hemophilia





Male %:                               Female %:











